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PART I 
MAP










Number from 1 to 10. Place the number in the blank from the map.




10



Austria-Hungary _____


Germany _____



Atlantic Ocean _____ 


Italy _____



Belgium _____



Mediterranean Sea _____



Britain
 ​_____




Russia _____



France
 _____




Serbia _____
PART 2 THE MAIN CAUSES of WWI

 
/27
1 Militarism 
a) The HMS Dreadnought outperformed other naval ships of its time. What advantages did it have?
2
__________________________________ and ______________________________________

b) General Schlieffen realized that Germany needed to plan for a future war. What problem did he foresee?

_____________________________________________________________________________  1 
c) Describe his plan.










2

i) ______________________________________________________________________________

ii) _______________________________________________________________________________

d) The French Plan 17 was designed to get __________________________



1

e) _____________________________ had the largest army before WWI.



1

2 Alliances
a) Define ally.
______________________________________________________

1
b) The Central Powers were – (circle the answer)







1

A Britain, France, Russia

B Germany, AH, Italy


C Britain, France, Germany

D Germany, AH, Russia

c) The Allies were – 











1

A Britain, France, Russia

B Germany, AH, Italy


C Britain, France, Germany

D Germany, AH, Russia

3 Imperialism
a) Why did countries want to control an empire?







2
_____________________________________ and ___________________________________

b) Explain the phrase “The sun never sets on the British empire”





1
___________________________________________________________________________________

c) Name one other country that had an empire.






1

_______________________________________________

4 Nationalism
a) Define nationalism.









1

______________________________________________________________________

b) Nationalism in France was based on – (circle the answer)





4

A their cooking


B winning wars


C immigration



D getting land back from Germany
c)  Austria-Hungary did not promote nationalism because –


A there were many ethnic groups who wanted independence


B they did not have a strong army
C they did not have good athletes


D the Emperor was weak

d) As part of Russian nationalism, the government promised protection to all Slavic people. This included the people of - 



A France


B Belgium


C A-H



D Serbia

e) The country whose nationalism was based on a recently won war and was building up its industry was – 


A Germany


B France


C Russia


D Britain

f) Assimilation means:









1

____________________________________________________________________________

Part 3 CANADA
5 Compare working conditions in Canada to those of Industrial Revolution Britain.

5
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

6 Immigrants came to Canada because of the _______________________ and the discovery of _______________ in the Yukon.








2

